
 

OnlyIAS Nothing Else 
Contact us : info@onlyias.com 
                  Visit : dpp.onlyias.in 
    Contact : +91-7007 931 912 

 

5 | P a g e  
 

c) c) 3-1-2-4 

d) 3-2-1-4 

 

Q.36) Which of the following is not correctly matched 

with regard to countries and their items of import. 

1. Africa: Pearls, dates, rose water, dried fruits 

2. Tibet: Ivory and Drugs 

3. Europe: Iron, Lead and Paper 

4. China: Woolen Clothes, Copper, Musk 

 

a) 1, 2 and 3 only 

b) 1, 2 and 4 only 

c) 2, 3 and 4 only 

d) 1, 2, 3, and 4 only 

 

Q.37) Consider the following statements about Later 

Mughals. 

1. Battle of Plassey took place during reign of Alamgir 

II and Treaty of Paris was signed during the reign 

of Ahmed Shah. 

2. Third Battle of Panipat and Battle of Buxar were 

fought during the times of Shah Alam II. 

 

Which of the above statements is/are correct. 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

Q.38) Arrange the following wars in correct 

chronological order. 

1. 1st Anglo-Maratha war 

2. Anglo-Nepal war 

3. 1st  Anglo-Burma war 

4. 3rd Anglo-Maratha war 

5. 1st Anglo-Afghan war 

 

a) 1-3-2-4-5 

b) 1-2-3-4-5 

c) 1-2-4-3-5 

d) 1-5-4-3-2 

 

Q.39) Consider following pairs about the treaties and 

defeat of Marathas 

1. Treaty of Devgaon: Defeat of Holkar 

2. Treaty of Surajianjangaon: Defeat of Bhonsle 

3. Treaty of Rajpurghat: Defeat of Sindhia 

 

Which of the above pairs is/are incorrectly matched 

a) 1 and 2 only 

b) 1 and 3 only 

c) 2 and 3 only 

d) 1, 2 and 3 

Q.40) Consider the following statements about 

Ryotwari System introduced by the Britishers. 

e) Revenue was not fixed so that government can 

increase revenue in case of more production. 

f) Barren land was under the British control, 

agriculture practices can be carried out on these 

lands and government had its share on the income 

generated 

g) Land could be confiscated in case of non-payment 

of revenue. 

 

Which of the above statements is/are correct. 

a) 1 and 2 only 

b) 1 and 3 only 

c) 2 and 3 only 

d) 1, 2 and 3 

 

Q.41) The main reason behind introduction of the 

General Service Enlistment Act, 1956 was: 

a) To pass a decreed that all future recruits to the 

Bengal Army would have to give an undertaking to 

serve anywhere their services might be required by 

the government. 

b) To allow only martial races to be eligible to be 

enlisted in the army. 

c) To provide allowance to the personnel providing 

services outside the country. 

d) Both a) and b) 

 

Q.42) Consider the following statements regarding the 

regulating act of 1773. 

1. It recognised that the company’s role in India 

extended beyond mere trade to administrative and 

political fields, and introduced the element of 

centralised administration. 

2. For the first time, the British cabinet was given the 

right to exercise control over Indian affairs. 

3. Warren Hastings and 4 others member of governor 

general executive Council one named in the Act, 

later were to be appointed by the company. 

 

Which of the above statements is/are correct. 

a) 1 and 2 only 

b) 2 and 3 only 

c) 1 and 3 only 

d) 1,2, and 3 only 

 

Q.43) Consider the following statements related to 

Charter act of 1813. 

1. The company’s monopoly over trade in India ended 

but the company retained the trade with China and 

the trade in tea. 

2. The constitutional position of the British territories 

in India was define explicitly for the first time. 

3. The company’s shareholders were given a 10.5 

percent dividend on the revenue of India. 

Which of the above statements is a incorrect. 

a) 2 and 3 only 


